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PROJECT RAIL 2.0

MODEL QUESTION PAPER-2023
MODEL SET -1 ( 1X 40=40)
CLASS — XII (OBJECTIVE) SUB : MATHS TIME : 1:30Hrs

1. Let R be arelationintheset N givenbyR ={(a,b):a=b—2, b > 6} choose the correct
answer
(a) (2,4)€R (b) (3,8 €R (c) (6,8) € R (d) none of these
2. Let A= {a,b,c}and R = {(a,a),(a,b),(a,c),(b,c)} be arelationon A, thenRis
(a) Reflexive (b) Symmetric (c) Transitive (d) none of these
3. Letf(x)=x% +x+ 7 ,thenf(0) is
(@) -7 (b) 0 (c) 7 (d) none of these
4. Letf:N — N be defind as f(x) =2x. Choose the correct answer
(a) fis one —one, onto (b) fis many one, onto
(C) fis one-one but notonto (d) none of these

5. Letf: R — R be defind as f(x) =2X +7, then f~1(x) is

(A =2 (b) 7x2 (o) == (d) =2

6. Principal value of tan~1(—1)
T YA

(a) " (b) - " (c) %ﬂ (d) none of these

7. Ifsin"lx=y ,then

(@) 0<y<m () 0<y<m (c)-Z<y<> (d) none of these
8. sin(tan"1x) , |x| < 1isequalto

(a) X 1 X

= O as ¥ as

.41 i1
9. The value of cos {sm 15+ cos 15}

(@) 1 (b) -1 (c) 0 (d) none of these
3x+7 5 0 y—-2
10. If [y+1 2—3x] [3 . ]
Then the value of x,y are respectively
(a) (3,1) (b) (2,3) (c¢) (2,4) (d) none of these

(d) none of these

1

11.1f A= [123 4] and B= % then AB is equal to
4

(a) [30] (b) [20] (c)[40] (d) none of these

12. IfA= [3 ;] then (adj.A) is equal to
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(a) [_57 —31] (b) [3 ;] (c) [:3 :;] (d) none of these

13. Area of the triangle whose vertices are (1,0) (6,0) and (4,3) is
(a) 7.5sq.units (b) 8.5 sq.units (c) 6.5 sq.units (d) none of these
14. The functionf(x)= |x — 1| , x € R
(a) Continuousatx=1 (b) Continuous everywhere
(c) not differentiableatx=1 (d) none of these

_ dy _
15. If Vx+ /[y = va ,then —> =?

vx L s
(a) NG (b) N (c) N (d) none of these
2
16. If x=at? and y = 2at ,thenZT’zl =
1 1 1
(a) - ) (b) - e (c) "3 (d) none of these
—tan-! (32X) .1 1 dy
17. y—t:n (1_3x23) 5 <1x <5 then—~ =?
(a) T (b) T (c) T (d) none of these

18.If y = cos(logx) then % =?

(a) -sin(logx) (b)- Sin(l:gx) (c) Cos(iogx) (d) none of these

19. The slope of the tangent to the curvey + x = x3 atx =2

(a) 13 (b) 11 (c) 6 (d) none of these
20. The slope of the normal to the curvey = 2x3 + 3sinx atx=0
(a) 3 (b)-3 (c) -3 (d) noneofthese

1
21. f(\/}+\/—§) dx equals

1 1 1 2 2
(a) 3x3 +2x2+C (b) ;3 +2x%2+C

1 2 1
(c) 3+ Exz + C (d) none of these
10x°+10* log, 10
x10+10%

22.

dx equals

(@) 105 —x1° 4+ C (b) log( 10% + x1°) + C
(c) 10* + x4+ C (d) none of these

dx
23. fx(x2+1) equals

(a) log|x| — %log|x2 +1/+C  (b)log|x| + %log|x2 +1| +C

(c)-log|x| + %log|3|c2 + 1| +C (d) none of these

24. | equals

x2-6x+13
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(a) %tan‘”;—3 +C  (b) %tan*% +C (c) ) %tan*? +C (d) none of these
2
7 dx
3

25. 3 — - equals

(a)% (b) % (c) % (d) none of these

26. The order of the differential equation

d? d .
2x2d—:;—3d—i+y=0 is

(@) 2 (b) 1 () O (d) not defined
27. Which of the following differential equation has y = c;e* + c,e™ as the general solution ?

2 2 2
(a) ZTZ.H,:() (b) dy—y:() (c) Yi1=0 (d) none of these

dx? dx?

28. The integrating factor of the differential equation xj—i —y=2x%is
(a) e ™™ (b) e? (c) % (d) none of these

29.1f d=i+j+kandb=i+2j+3k then magnitude of @+ b is
(a) v29 (b) v27 (c) v26 (d) none of these

— 7 — 7 2 — 37 . - -
30. Let the vectors a and b be such that | a| =1 and | b| =5 a X b is a unit vector, if the

angle betwwen @ and b is
(a) % (b) % (c) g (d) none of these

31. The projection of 2i + 3j + 2k on b=i +2j+k

(a) \1/—% (b) - % (c) \/%_0 (d) none of these

32.Thevalue of i.(jxk)+j.(ixk)+k.(ixj)is

(@) 3(b) -1 (c) 1 (d) none of these

33. Find the direction cosines of the line passing through the two points (-2,4,-5) and (1,2,3) is
3 2 8 3 2 8 3 2

(a) \/ﬁ'_\/ﬁ'\/ﬁ (b) «/ﬁ'\/ﬁ'_\/ﬁ(c) _ﬁ r_ﬁ

34. The direction cosine of x axis are

(a) (1,0,0) (b) (0,1,0) (c) (0,0,1) (d) none of these

35. Distance between two planes 2x + 3y +4z=4 and 4x+ 6y +8z =12 is

3 2 4
(a) N (b) 735 (c) NeT (d) none of these
36. The angle between two planes 2x+y—-2z=5 and 3x-6x-2z =7is

(a) cos™! (24—1) (b) cos? (%) (c) cos™1 (?) (d) none of these

37.If P(A) = % , P(A) = 0 ,then P(A/B)is

(@) 0 (b) % (c) notdefined (d) 1

38. Two coins are thrown simultaneously. find the probability of event when head will appear
both of them

8
' o (d) none of these
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(a) % (b) % (c) % (d) none of these

39. The probability that a student is not swimmer is 5 then the probability that out of 5
students 4 students swimmers is

1 N1 N1
(@ 5,(3) 5 ) 5,(3) 5 (0 5. (5) 5 (d) none of these
40. If A and B are any two events such that P(A) + P(B) — P (A and B) = P(A) ,then

(a) P(B/A)=1 (b) P(A/B) =1 (C) P(B/A)=0 (d) P(A/B) =0

MODEL SET -1
Class-Xl1 (sub) Subject-Maths TIME : 1:30Hrs

SECTION-A (2 X5=10)
Ans. Any five questions

Iff:R-R:f(x)=2x+1,f:R-R:g(x)=x* -2 find (gof)(x)
Prove that 2 tan™! % + tan‘I% = tan! %

Find % if y=sec (tan(vx))
Find the rate of change of the area of a circle with respect to its radius ‘r’ when r = Scm.
Evaluate [(4x3 — b) dx
Ifd =2i-j+2kand b = —i + j — k then find the angle@ between the vectors.
If P(A) == P(B) = —and P(ANB) = - then evaluate P(A/B) and P(B/A)
SECTION-B (3 X5=15)

Ans. Any five gquestions
8. By using the properties of determinant

N o aks w DR

1 x x?
show that|x2 1 x|= (1 - x3)2
x x* 1

9. Test the continuity of the following function at the pointx =0
f(x)={ x+1 wheanl}
x*+1 whenx<1

10.Evaluate [ tan* x dx

3
2

11.Evaluate [2 (Ginv?  dx
(sinx)2+(cos x)2

dy — .2
12.Solve X+ 2y = x
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131fd=2i-j+k and b=i+j+k.Find(1)@.b (11) |d x b|

14. Given three identical boxes I , Il and Il ,each containing two coins. In box I, both coins
are gold coins, in box 11, both are silver coins and in the box 111, there is one gold and one
silver coin . A person chooses a box at random and takes out a coin. If the coin is of gold ,
what is the probability that the other coin in the box is also of Gold ?

SECTION-C (3X5=15)
Ans. Any three guestions
15.Solve the following system of equation using matric method.

X=2y+2z=7
3X+4y—-52=-5
2X—-y+3z=12

16.Find the maximum and minimum value of the following function.
f(x) =x3 — 6x% + 9x + 12

17.Find the area enclosed by the circle
x% +y? =q?

Or using integration ,find the area bounded by the triangle whose vertices are (-1,0) ,(1,3)
and (3,2)
18.Find the shortest distance between the following lines :-
F=1+ + 2(21 — j+k)
¥ =2i+j—k+p(3i—5j+ 2k)
19.Solve the following LPP graphically :-
Maximize z =5x + 3y
Subject to constraints:

3x+5y < 15
5x+ 2y < 10
X,y=0
MODEL SET -2 ( 1X40 =40)
CLASS - XII (OBJECTIVE) SUB : MATHS TIME : 1:30Hrs

l.let A= {1,2,3,4}and R ={(1,1),(2,2),(3,3),(4,4),(1,2)} bearelationonA,
then Ris
(b) Reflexive (b) Symmetric (c) Transitive (d) none of these

2.Lletf: N — N be defind as f(x) =3x. Choose the correct answer
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(b) fis one —one, onto (b) fis many one, onto
(C) fis one-one butnotonto (d) none of these
3.Letf:R — R be defind as f(x) =3X-7,then f~1(x) is
() =2 (b) 3x7 (o) 3x+7  (d) =7
4. Let f(x) = |x] and g(x) = [x], then the value of fog(g) is
(@5 (b) 6 () 1 (d) -1

5. IFf:R—R:f(x) = (3 — x)3 find (fof)(x)
(a) x (b) 1/x (c) -x (d) none of these
6. The value of sin{tan"1a + cot ' a} is

(@) 0 (b)-1 (c) 1 (d) none of these

7. Principal value of cos™! (— %)

(a) - % (b) g (c) 2?” (d) none of these
8.tan 13 — sec™1(-2) is equal to
(a) - g (b) g (c) 2?” (d) none of these

9. sin (g —sin™! (— %)) is equal to

(@ 5 () 3 () 7 (d)1

2 3

0.6a=[; 3] .= [*]

then the value of(AB)’ are respectively
7 1 -1
b [1 71 ® |1 @ [;] @[]
11. For what value of x the given matrix [ch x
(@) 1 (b) 2 (c) 3 (d) noneof these

cosO sin@ .
12. = , ’
If A [_ sinf  cos 0] then AA’ is equal to

(@) I, (b) I3 (c) I, (d) none of these

3 x| _ |3 2
13.|f|x 1= 3

(@) *2v2 (b) V2 (c) ¥*3v2 (d) none of these
14. What is the value of k for which the function at x=0

f(x)= {Silsljx if x # 0}

+1

9 ] is singular

, thenx is equal to

k ifx=0
15. If y + siny = cosx , then % =7?
(a) cer (b) stn x (c) - stn ¥ (d) none of these

1+cosy 1+cosy 1+cosy
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16. If y =log(cos e*) , then % =?

(a) -e*tane* (b) e*tane* (c) e*cote* (d) none of these
17.y=10100 then% =?

(a) 10010°° (b)10° (c) 0 (d) 1

18.1f x+2y=6 then% =?

(a) -5 (b)3 (c) 1 (d) 2

19. The slope of the tangent to the curvey =sinx atx =
(@) 1(b) 0 (c) 2 (d) 3

20. The interval in which y = x>e™* is increasing is

(@) (-2,0) (b) (0,2) (c) (2, 0) (d) (—0, )

21. The interval in which the function f(x) = 4x3 — 6x? — 72x + 30 is decreasing is
(a) (-2,3) (b) (2,3) (c) -(2,3) (d) none of these

X

e*(1+x) .
22. [ — ory OX s equal to
(@) - cot(e*x) +C (b) tan(xe*) + C
(c) tan(e*) +C (d) None of these
dx .
23. [ ———— isequal to:-

(a) tanx+ cotx+C (b) tanx— cotx+C
(c) tanx— cot2x+ C (d) tanx cotx+ C

24. [ x2e*’ dx equals

(a) ;e*’ +C (b) ;€5 +C
(c) ;e** +C (d) ;e +C
2
= dx
25. 3 oo equals
A T A T
(@ = (b) = (¢ o (d)

26. Degree of the given differential equation is
")+ () + )+ y5=0
(@2 (b) 3 () 4 (d 5

27. A homogeneous differential equation of the form b h G) can be solved by making the

dx

substitution

(a) y=vx (b) v=yx (c) x=vy (d) x=v

28. The general solution of the differential equation % +y=1(y+0)

() y=1+Ae™* (b) y=1+Ae* (c) y=2+Ae™* (d) None of these



To Download model paper Search Jharnet.com

29. . If @ and b be two unit vectors and @ is the angle between them, then @ + b is a unit
vector if

(3)9:§ (b) 9=§ (c) 92% d 6= —
30. The value of i.(j X k) is

(@) 0 (b) 2 () 1 (d) @
31. If a line makes angle 90°,135°,45° with x,y and z axes respectively ,its direction cosine is

1 1 1 1 1 1 1
@ (L-%3%) b (0-%%) © (5575 @01y
32. Cartesian equation of line passing through (0,0,0) and (5,-2,3) is

() Z==22="2 () =2 =2 () x=y=z (d) None of these
33. Distance of the plane 2x — 3y + 4z = 6 from the origin is

(@ = (b = (© = (@21
34. The planes 2x—-y+4z =5 and 5x-2.5y +10z=6 are

(a) perpendicular (b) parallel (c) intersecty—axis (d) None of these
35. The vector equation of a line where cartesian equation is

x-=5 y+2 z-3

1 2 s
(@ 7 = 5i+2j-3k)+ A(i+2j—-5k) (b) 7 = (5i—-2j+3k) +
A(i+2j-5k)

(c) 7 = (i+2j—-5k) + A(5i—2j+3k) (d) None of these
36. A pair of dice are rolled. the probabity of obtaining an even prime number on each die is.

@ = ® 2 © ¥ (d) None of these
37. A family has two children. what is the probability that both the children are boys given
that at least one of them is a boy

1 1

(a) % (b) 2 (c) 5 (d) None of these

38. If A and B are independent events ,then which one is true
(@ P(AnB)=9¢ (b) P(AnB) = P(B) -P(A)
(C) PAnB) =1 (d PAnB) = P(B)x PA)

39, P(E;') = . \.

(8 1-PE) () 1-P(F) (9 1-P(3) () 1-P(3)
40. In a box containing 100 bulbs ,10 are defective. the probability that out of a sample of 5
bulbs none is defective is

5 5
@10t ®) ) ©() @ o
MODEL SET - 2
Class-XI1 (sub) Subject-MATHS TIME: 1:30Hrs
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SECTION-A (2X5=10)
LIFf(x) = (7 — 2 , Find fof(x)
2 Prove that tan~! = + tan~!— = tan
11 24
3.Find Zify=x*
4.Find the rate of change of circumference with respect to radius when r =5 cm

5.Evaluate [ cotx dx
6.Find the angle betwwen pair of lines

¥=31+2j— 4k + A2(1+ 2]+ 2k)
7 = 51-2j + u(3i + 2j + 6k)

-1

7.1f 2P(A) = P(B) == and P(3) == then evaluate P(ANB)

SECTION-B (3X5=15)

8.By using the properties of determinant
a a+b a+b+c

2a 3a+2b 4a+ 3b+ 2c
3a 6a+3b 10a+ 6b + 3c

show that = a3

9.Test the continuity of the following function at the point x = a
f(x) = { xsin% when x # 0 }
0 whenx =0

10.Evaluate [ —S22

sin 5x sin 3x

11.Evaluate f: = ffn

12.Solve ydx - (x — 2y%)dy =0
13.1f d=1i+j+kandb=1i+2j+ 3k Find the value of (a) [d| (b) @.b (C)d x b
14.A man is known to speak truth 3 out of 4 times. He throws a die and reports that it is a
six. Find the probability that it is actually a six.
SECTION-C (3 X5=15)
Ans. Any three questions

dx

1 -1 217[-2 0 1
15.Use product [0 2 —3] 9 2 —3| tosolve the following system of equations
3 -2 4 6 1 -2
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X-y+2z=1
2y -3z=1
3X-2y+4z =2

16.Find the maximum and minimum value of the following function.

f(x) =41 — 72x — 18x?

2 2
17.Using integration ,find the area bounded by the curve :—6 + % =1

18.Find the values of p so that line
1-x 7y-14 z-3 7-7x y-5 6—z
= = and = =
3 2p 2 3p 1 5
19.Solve the following LPP graphically :-
Maximize z=4x +y

Subject to constraints:

x+y <50
3x+y <90
X,y=0
MODELSET-3 (1x40=40)
CLASS — XII (OBJECTIVE) SUB : MATHS TIME : 1:30Hrs

l.let A= {1,2,3}and R ={(1,1),(1,2),(2,1),} bearelationonA,
then Ris
(c) Reflexive (b) Symmetric (c) Transitive (d) none of these
2.Let A= {1,2,3,4,5}and R={(x,y) : x,y € A and x < y} bearelationonA,
then Ris
(a) Reflexive (b) Symmetric (c) Transitive (d) none of these
3.1f f:NXN — Nissuch that f( m,n )= m+n, where N is set of natural no. then

(a) f is one-one (b)f inonto (c) fismanyoneonto (d) fisone -One onto

4.letf: R — R be defind as f(x) = 5::3

3x 2x 5x
(a) 2-5x (b) 3-5x (C) 2-3x (d) 3+2x
5. Let f(x) = |x] and g(x) = 2x — 3, then the value of gof(—2) is
(@) -1 (b) 1 (c) -11 (d) none of these

6. Rangeof tan 1 x is

_3 .
, x#—,then f~1(x) is

X
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(a) [0, m] (b) (_Tn,g) (c) R (d) none of these
7. Domain of function cos 1 x is
(a) (0,m) (b) [-1,1]—{0} (c) [—1,1] (d) none of these
8. The value of sin™?! {sin ?} is
3n

@73 B 5 ©© % @ -5

9. The value of sec‘l{ 21 } is

2x-—-1
(a) 2sec™x (b) cos™1(2x%2 —1) (c) cos(2x?> —1) (d) 2cos 1 x
10. A matrix A of order 3x3 has determinant 5. What is the value of |34|
() 125 (b) 5 (c) 135 (d) 75
11. For what value of x , the matrix [
(@) 4 (b)3 (c) 0 (d)1
12. Ais 3x3 matrix such that |adjA| =64 , then |A| =
(@) 8 (b) ¥4 (c) 0 (d) 1
13. Points (2,0), (x,y) and (0,5) are collinear if
(@) 2y=x (b) 2y=10-5x (c) y= 510

2
asin2x
14.1f f(x)= { p xio}

2 x=0
Is continuous at x = 0, then the value of a is

(@2 (b) 1 ()4 (d -

2
15. Find f'(4) ,if f(x) = %

5—-x x+

1] is singular
2 4

(d) none of these

(a 5 (b) ; (c) 3 (d) noneofthese
16 . Differential coefficient of logsecx w.r.t.x is
(a) Secx (b) cosx (c) tanx (d) cosecx

17. Find % when x2/3 + y2/3 = a2/3
@-()" w0 )" "

2
18.y= sin~! (1_tan ad
) 1+tan? x
T

@ 0 (b) -2 (o) 2 (d) 3

19. Find the slope of the tangent to the curve x=1-asin8 ,y=bcos? 0 at 0 = %

(a) % (b) ija (c) \/fg (d) none of these
x—-3

20.f (x) = ﬁ is increasing on

(@ R (b) R-{-2} (c) [2,0] (d) ]—o0,—3]
21. Anti derivative of V/x is

dy
) , then ™ equal to
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@5 B 2 ©:072 @ @7
22. Evaluate f;:rldx
(a) tan~lx (b) 2x+ tan"'x (c) x—2tan"lx+C (d) log|x2+1|+x+c
23. | s“lxﬂdx is

(a) tan(logx) (b) —cosec(logx) +C (c)log(1+ cosx)+ C (d) none of these
24. [ xsin3x dx is

() Zeos3x 4 Sirllzsx +c¢ (b) xsin3x +sin3x+C
(c) cos33x +3x%sin3x+ C (d) none of these

25. f:lx —1|dx is

(@00 (b) 4 ()5 (d) 6

3

. . . dzy 3 dy 2
26. The order and degree of the differential equation (—) + - + x“y=0

dx? d
(a) order= 3 ,degree= 2 (b) order=2 |, degree=3
(c) order= 1 ,degree=1 (d) none of these

27 . The order of differential equation of a family of curve y = Ae* + Be™ is

(a) 2 (b) 1 (c) 3 (d) none of these

28. Solution of differential equation % = (e*+ 1y is

(@) logy =e*+x+C (b) |logy|=¢€e* +C
2

(c) logl1+y|l=x— x; +C (d) none of these

29. The scalar product of 57+j —3k and 37— 47+ 7k is
@ 15 (b) -15 (c) 10 (d) -10
30.Vectors 27+ Aj+k and ©—2j+ 3k are perpendicular if value of A is

(a) ; (b) % (c) 0 (d) none of these

31. If O is the angle betwwen two vectors @ and b ,thend .b >0 only when

(a)0<e<§ (b)osesg (c) 0<O<m (do0<O<m

32.f d = 2i+j— k and b =i+ 3j — 4k ,then magnitude of d + b is equal to
(a) 5v2 (b) 2v5 (c) % (d) None of these

33. The direction cosines of y — axis are
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(@) (a0,0) (b) (1,00 (c) (0,1,0) (d) (0,0,1)
34. The direction ratios of the normal to the plane 7x+4y—-2z+5= 0 are
(a) (7,4,-2) (b) (7,42) (c) (-7,-2,4) (d) None of these
35. The direction ratio of the straight line
¥ =i+j—k + 2AQ2i- 3j+ 4k)
(a) (1,1,-1) (b) (2,3,4) (c) (-2,3,-4) (d) None of these
36. The equation of the plane with intercepts 2, 3 and 4 on the x, y and z axis respectively is
(@) 6x+4y+3z=12 (b) 6x+4y -3z =12 (c) 6x—4y -3z = 12 (d) None of these
37. If Aand B are events such that P(A/B) = P(B/A).then
(Q) AcB but A #B (b) A=B (c)AnB=0 (d) P(A)= P(B)
38. Two events A and B will be independent . if
(a) A and B are mutually exclusive (b) P(A) +P(B)=1
(C) P(A'B’) = [1—-P(A)][1-P(B)] (d) P(A) =P(B)
39. Events A and B are such that P(A)=1/4 ,P(A/B) =1/2 , and P(B/A) = 2/3 ,then P (B) is

1 1

(a) (c) (d)

40. If
P(A)= 0.4 , P(AUB)=0.7 and A and B are independent events,then P(B) =

(b)

W=
wWIiN

N =
—
(e}

—
—
Q.
—
D

(b)

1
4

(a)

MODEL SET -3
Class-XI1 (sub) Subject-MATHS TIME : 1:30Hrs

SECTION-A (2 X5=10)
Ans. Any five questions
1—x2

1Iff(x) = T show that f(tan @ ) = cos 260

2.Evaluate tan~! {2 cos (2 sin~1 %)}

. dy .
3.Find d—z ify=1log;x
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4.Use differentiation to evaluate V17
5.Evaluate [ xsinxdx
6.Find direction cosines of the line joining the points (1,2,3) and (3,1,7)

7.1f P(A) =5 P(B) =3 and P(AUB) = then evaluate P(ANB)

SECTION-B (3 X5=15)
Ans. Any five questions

8.By using the properties of determinant
x+4 2x 2x

2x X+ 4 2x
2x 2x x+4

show that = (5x+4)(x — 4)?

9.Test the continuity of the following function at the pointx = a
2_ 2
f(x) = { xx_z when0 <x<a }
2a whenx = a

sin x

10.Evaluate [ — —
2+x

11.Evaluate [*; log (=

Y _ =22
12.So|vexdx y=2x%y

)dx

13.Find the area of the parallelogram if the digonals are i +2j — 3k and 5i -2j + k
14.Two dice are thrown. find the probability that the numbers appeared has a sum 8, if it is
known that the second dice always exhibit 3.

SECTION-C (3X5=15)
Ans. Any three questions
15.Solve the following system of equation using matric method.

X+2y+z=7
X +3z=11
2x -3y =1

16.Find the maximum and minimum value of the following function.
f(x) =2x3 — 15x% + 36x + 1 0on [1,5]
17.Using integration ,find the area bounded by the curve y? = 8x and line x= 2
18.Find the foot of the perpendicular from the point (3, -1,5) on the line
x+1 y—-2 z-1
4 1 2
19.Solve the following LPP graphically :-
Maximize z = 3x + 5y
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Subject to constraints:
X+y =2

X+3y >3

X,y=0

BEST OF LUCK



